

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

12/18/2019 09:00 AM | Drive to Vegas 12/19/2019 09:00 AM | Install Day 1 12/20/2019 09:00 AM | Install Day 2 12/21/2019 09:00 AM | Install Day 3 12/21/2019 05:00 PM | Event 12/21/2019 10:00 PM | Change-Over / Strike 12/22/2019 09:00 AM | Strike 12/23/2019 09:00 AM | Drive to LA PO: Shipping Address: Fertitta Residence Las Vegas

IN-0002552

Mindy Weiss 232 South Beverly Drive Suite 200 Beverly Hills, CA CA

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total General		\$0.00
FRONT OF HOU	SE				
	Oversized Christmas Ornament 12'D with 8'H x 4'W (single-side) entrance -Revelry to attached LED- Lights to frame **Images to provide additional Lights to create shape**	1	\$9,500.00	Т	\$9,500.00
		٦	Total FRONT OF HO	USE	\$9,500.00
INSIDE HOUSE					
P	Venice Club Chair- White w. Gold Frame	2	\$275.00	т	\$550.00
	Custom Kitchen Island Facade Multi-dimensional gold plexi with white top	1	\$7,500.00	Т	\$7,500.00
	Custom Dining Table Facade Multi-dimensional gold plexi with white top	1	\$5,500.00	Т	\$5,500.00
	REUSE - Washington Gold Dining Chairs with white cushions	23	\$0.00	Т	\$0.00
	Washington Dining Chair - Gold white cushion	26	\$30.00	Т	\$780.00
	Buenos Aires Barstool - Gold white Cushion	79	\$40.00	Т	\$3,160.00
· · · · · · · · · · · · · · · · · · ·			Total INSIDE HOUSE		\$17,490.00
PHOTO OP ARE	Α				
	Perimeter Drape - Emerald Green Velvet 200'L x 14'H to drape in the photo op area (Balcony)	1	\$3,250.00	Т	\$3,250.00
			Total PHOTO OP AI	otal PHOTO OP AREA	

Description		Qtty	Price		Total
GAZEBO					
	Moscow Chandelier Display Table 6' x 38" x 32"H	2	\$600.00	Т	\$1,200.0
	Perimeter Drape - Emerald Green Velvet approx 300' x 12'H	1	\$5,200.00	Т	\$5,200.0
	Perimeter Valance - Emerald Green Dupioni	1	\$1,500.00	Т	\$1,500.0
	Prague Stand Up Table - Rose Gold	4	\$250.00	Т	\$1,000.0
			Total GAZE	BO	\$8,900.0
FIRE PLACE AI	REA				
	Straight Banquette - White Channeled	1	\$475.00	Т	\$475.0
	Deco Coffee Table - Gold w. Mirror Top	1	\$275.00	Т	\$275.0
	Accent Pillows	6	\$26.00	т	\$156.0



		Total FIRE PLACE AREA		\$1,266.00		
MAIN TENT						
	Ceiling Drape (interior) - Emerald Chiffon & Backing two separate pieces for lighting to go inbetween	1	\$8,700.00	Т	\$8,700.00	
	Perimeter Drape - Emerald Green Velvet	1	\$6,950.00	Т	\$6,950.00	
	Perimeter Valance - Emerald Green	1	\$950.00	Т	\$950.00	
	NEW Sphere Chandelier 3'D	12	\$550.00	Т	\$6,600.00	
	NEW Sphere Chandelier 4'D	12	\$750.00	Т	\$9,000.00	
	NEW Sphere Chandelier 5'D	8	\$950.00	Т	\$7,600.00	
	Stage Backdrop - Gold Mirror Plexi to fill the entire 30'W x 15'H peak side of the tent	1	\$9,750.00	Т	\$9,750.00	
	Stage Backdrop - Gold Finial Ornaments layered gold ornaments to create an 'infinate' mirror	1	\$13,500.00	Т	\$13,500.00	
	Stage Front - Framed Mirror 24"H gold painted frame	1	\$950.00	Т	\$950.00	

Hollywood Ottoman - White with Brass Base

\$90.00

Т

4

\$360.00

Description		Qtty	Price		Total
	New York DJ Booth 6'L custom multi-dimensional gold plexi front	1	\$1,800.00	Т	\$1,800.00
- Jul L L L L L	Toronto Sofa (4pc) - Grey	4	\$850.00	Т	\$3,400.00
	COVER - Toronto Sofa (4pc) - White Suede	4	\$1,100.00	Т	\$4,400.00
	NEW Coffee Table - Balenciaga 4' x 2' multi-dimensional gold mirror plexi	8	\$500.00	Т	\$4,000.00
AT	Tokyo Accent Chair - White w. Gold	15	\$85.00	Т	\$1,275.00
AT	Tokyo Accent Chair - White w. Rose Gold	1	\$85.00	Т	\$85.00
	Hollywood Ottoman - White with Brass Base	4	\$90.00	Т	\$360.00
	Ottoman Pod 18"D	20	\$60.00	Т	\$1,200.00
	Accent Pillows	40	\$26.00	Т	\$1,040.00
	New York Bar 8'L custom multi-dimensional gold plexi fronts	3	\$1,975.00	Т	\$5,925.00
	Athens Barback - White & Gold 6' x 13" x 6'	3	\$300.00	Т	\$900.00
	Deco Communal Table - Gold	2	\$300.00	Т	\$600.00
	Prague Stand Up Table - Rose Gold	8	\$250.00	Т	\$2,000.00
	Buenos Aires Barstool - Rose Gold	28	\$40.00	Т	\$1,120.00
	Dance Floor 28' x 24' gold metallic	1	\$4,600.00	Т	\$4,600.00
			Total MAIN TE	NT	\$96,705.00
Services					

Description		Qtty	Price	Total
	Installers: Travel (2) Days	12	\$600.00	\$7,200.00
	Installers: Install (3) Days	12	\$1,500.00	\$18,000.00
	Installers: Strike (1) Days	12	\$500.00	\$6,000.00
	Installers: Stand By to remove the items from inside the house	6	\$150.00	\$900.00
	Installers: Perdiem (6) Days	13	\$384.00	\$4,992.00
	Hotel Rooms (5) Nights Client to Provide	7	\$0.00	\$0.00
	Trucking: 24'L	3	\$1,200.00	\$3,600.00
	Trucking: Semi 53' to be dropped at Red Rock Hotel	2	\$3,100.00	\$6,200.00
	Manager: Air Fare	1	\$550.00	\$550.00
	Manager: Onsite	1	\$2,500.00	\$2,500.00
	Manager: Rental Car	1	\$1,300.00	\$1,300.00
	Manager: Layout & Designs	1	\$1,200.00	\$1,200.00
	Supplies: Misc	1	\$1,750.00	\$1,750.00
	Dancefloor: Labor & Delivery	1	\$1,500.00	\$1,500.00
	Dancefloor: Hotel Rooms (2) Nights CLient to provide	1	\$0.00	\$0.00
	Decal Labor: Decal Wrapping for stage backdrop	1	\$1,200.00	\$1,200.00
	Certificates: Flame Proofing	1	\$1,250.00	\$1,250.00

Please make checks payable to Revelry, Inc.	Total Products:	\$137,111.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$58,142.00
Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
	Discounts:	(\$0.00)
Notes	Total:	\$195,253.00
	Payments:	(\$195,253.00)
	Balance:	\$0.00